

$a = \epsilon_0$ $a + 3d = 91$ $\epsilon_0 + 7d = 91$ $d = 11$	$\epsilon_0 + (n-1)d = 101$ $(n-1)11 = 101 - \epsilon_0$ $n-1 = \frac{141}{11} = 12 \Rightarrow n = 13$	1
-------------------------------------------------------------------------	---------------------------------------------------------------------------------------------------------------	---

$101, 112, 123, \dots, 99V$

$$\frac{99V - 101V}{11} + 1 = 129$$

2

$a_n = a + (n-1)d = -1$ $a_{10} = a + 9d = -29$ $-29 + (-1) = -30$	$a_1 + a_2 + a_3 = 9$ $a + d + a + 2d + a + 3d = 3a + 6d = 9$ $a + 2d = 3$ $a + 2d + a + 4d + a + 6d = 3a + 12d = 0$ $3a + 12d = 0 \Rightarrow a + 4d = 0$ $2d = -3$ $d = -1.5$ $a = 6$	3
--------------------------------------------------------------------------	--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------	---

$a_1 + a_2 + \dots + a_n = \frac{n}{2}(2a + (n-1)d)$ $a_1 = 1, r = 2$ $a_n = 2^{n-1} = 16$ $a_{10} = 2^9 = 512$	$a_n - a_r = a_{10} - a_1$ $2^n - 2^r = 2^{10} - 2^1$ $2^n - 2^r = 1023$ $2^r(2^{n-r} - 1) = 1023$ $2^r(2^9 - 1) = 1023$ $2^r(512 - 1) = 1023$ $2^r(511) = 1023$ $2^r = \frac{1023}{511} = 2$ $r = 1$	$(y+1)(y-2) = 0$ $y = -1$ $y = 2$ $r > 0 \Rightarrow r = 2$ $r = 2$	4
------------------------------------------------------------------------------------------------------------------------------------------------	-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------	---------------------------------------------------------------------------------	---

$a_{10} - a_1 = a$ $a + 9d - a = 9d = a$ $9d = a$ $d = \frac{a}{9}$ $a_{10} + a_1 = 10a$	$10a + 45d = 10a$ $10a + 45(\frac{a}{9}) = 10a$ $10a + 5a = 10a$ $15a = 10a$ $a = \frac{10a}{15} = \frac{2a}{3}$	$a_{10} = a + 9d$ $\frac{10a}{2} + \frac{100}{2} = \frac{10d}{2} = 5d$	5
------------------------------------------------------------------------------------------------------	------------------------------------------------------------------------------------------------------------------------------	---------------------------------------------------------------------------	---

$$a + ar + ar^2 + \dots + ar^{n-1} = \frac{a(1-r^n)}{1-r}$$

$$a + ar + ar^2 + \dots + ar^{n-1} = \frac{a(1-r^n)}{1-r} \quad | \cdot a + r^n d = \frac{a}{1-r} + r^n d$$

$$a_1 = a + d = a + ra = ra$$

$$a_1 = a$$

$$\frac{r^n}{a} = r^n$$

6

$$t_9 = t_8 + 10$$

$$a + 10d = a + 9d + 10$$

$$r^d = 10$$

$$d = a$$

$$t_9 = a + 10d$$

$$t_9 = a + 10a = 11a$$

$$t_{10} = a + 10d$$

$$t_{10} = a + 10a$$

$$t_{10}^r = (a + 10a)^r = a^r + 10a^r + 10a^r$$

$$t_9^r - t_{10}^r = 10a^r + 10a^r$$

$$t_{10} = a + 10d = a + 10a$$

$$\frac{10a^r + 10a^r}{10a^r} = 2$$

7

$$r(1-r^n) = r - r^{n+1}$$

$$\frac{r\sqrt{r} - 1 + 1\sqrt{r}}{1r+1} = \frac{r\sqrt{r}}{1r} = \sqrt{r}$$

8

$$S_n - r + r = t_{n-1}$$

$$a_1 = r \quad a_{fn-1} = r^n$$

$$a_{fn-1} = a + (fn-1)d = r^n$$

$$r^n = r + (fn-1)d$$

$$(fn-1)d = r^n - r$$

$$d = \frac{r^n - r}{fn-1} = \frac{r^n - r}{r^n - 1}$$

$$a_{n+1} = 11$$

$$a_{n+1} = a_1 + nd = r + n \left(\frac{r^n - r}{r^n - 1} \right) = 11$$

$$\frac{r^n - r}{r^n - 1} = 9 \Rightarrow 11n - 9 = 11n$$

$$n = r$$

9

$$a_{10} + a_{10} = a_1 + a_{10} \Rightarrow n = 1$$

$$a_{10} = a + 10d$$

$$a_{10} = a + 10d$$

$$a + 10d = r + 10d$$

$$-10d = r - a$$

$$ra + 10d = 0$$

$$a + d = 0$$

$$a + d = ar$$

10